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KANGOUROU MATHEMATICS COMPETITION 2016 (LEVEL 1-2)

3 point problems - mpoBAfuata 3 povadwv

1. Which letter on the board is not in the word "KOALA"?
Moto ypdppa tou mivaka dev Bploketal otn Aé€En “KOALA”;

(A)R (B) L (C)K (D) N (E)O

2. How many ropes are there in the picture?
Mooa oXoLWLA UTIAPXOUV OTNV ELKOVQ;

\
(A) 2 (B) 3 (C) 4 (D) 5 (E) 6 (:7““”/%2)

3. Michael built a house with matches as in the picture. How many matches did he use?
O MdAng edtiace €va oritl pe omptofula Onwe dpaivetal otnv ewkova. Moca oriptdEuia
Xpnotluomnoinos;

(A) 19 (B) 18 (C) 17 (D) 15 (E) 13 u ﬂ

4. In a cave, there were only two seahorses, one starfish and three turtles. Later, five seahorses,
three starfish and four turtles joined them. How many sea animals gathered in the cave?

Z€ pLa oTNALA, UTTHPXOY LOVO SUO UTIOKAUTIOL, £va aoTepiag Kot TPELG XEAWVEG. ApyoTtepa, TTEVTE
LTIITOKAUTIOL, TPELG OOTEPLEG KL TECOEPLS XEAWVEC evwOnkav pall toug. Nooca Baldoola {wa
OUYKeVTpwONnKav oto omnAalLo;

(A) 6 (B) 9 (C) 12 (D) 15 (E) 18

5. Which point of the labyrinth can we reach starting from the point 0?
Y& molo onueio tou AaBuplvBou propolpe va ptacouvpe amnd to onueio O;

(A) A (B) B @c (D) D (E)E
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6. Ten friends came to John's birthday party, six of them were girls. How many boys were there?
Aéka piloL npBav oto maptt yeveBAiwv Tou MNavvn, £€L amo autol¢ fRTav kopitola. Noca ayopla
NTov eKei;

(A) 4 (B)5 (C)6 (D)7 (E)8

7. Marios had to deliver flyers about recycling to all houses numbered from 25 to 57. How many
houses got the flyers?

O Mapiog émnpere va mapadwoel GuAAASLA yLa TV avakUKAwWGN o€ OAa Ta omtitia Tou aplBpolvtal
amnod 25 £wg 57. Nooa onitia mApav ta puALadLa;

(A) 31 (B) 32 (C)33 (D) 34 (E) 35

8. Which shape can we make with 10 cubes?
Moto oxNua propolpe va ¢tiatoupe e 10 kOBoug;

15,

(A) (B) (o)

‘ 4 point problems - mpofAnuata 4 povadwv

9. Sophie arranges balls in boxes in a certain way as in the picture. How will the balls appear in the
box with the question mark?

H Zodia TaktomoLel UMAAEG 0 KOUTLA E VAV OPLOHEVO TPOTIO, OTwG daivetal otnv ewkova. Nwg Ba
eudavilovral ol UAAEG OTO KOUTL LE TO EPWTNLATIKO;

?

e

ees 00 L a8 N [ & on & ]
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10. Agatha, the hen, lays white and brown eggs. Lisa puts six eggs in the box below. Two brown
eggs cannot touch each other. At most, how many brown eggs can Lisa put in the box?

H Ayan, n kota, yevwa Aeuka kal kade auyd. H Aifa Balel £€L auya 0TO APAKATW KOUTL. AUo KadpE
auya Sev pmopel va ayyiéel to éva to alho. Mooa to moAU kade auyad propet n Aida va BaAeL oo
KOUTL;

(A)1 (B) 2 (€3 (D)4 (E)5

11. Katheryn is 1 year and 3 months old now. In how many months will Katheryn be 2 years old?
H Katepiva eival 1 £10¢ Kal 3 unvwv twpa. X moooug HRveg n Katepiva Ba elval 2 xpovwy;

(A)3 (B) 5 (c)7 (D) 8 (E)9

12. Granny went out to the yard and called all the hens and her cat. All together with 20 legs ran
to her. How many hens does granny have?

H ylayia Bynke otnv auAn Kat KAAeoe OAEC TLG KOTEG Kal T yata tnG. OAa ta {wa pall pe CUVOALKA
20 modLa £tpe€av pog autnv. MAoeG KOTEG EXEL N YLAYLY;

(A) 11 (B)9 ()8 (D)6 (E) 4

13. In Baby Annie’s house, each room is connected to any neighboring room by a door (see the
Picture). Baby Annie wants to get from the room A to the room B. What is the least number of
doors that he will need to go through?

2T0 OTIiTL TOU HWwpPOoU HE To Ovopa Avvh, k&Be Swudtio gival cuvdedepévo e KAOe YEITOVIKO
SwuATLo e pLa topta (BAEme elkova). To pwpo Avvn B€AeL va tael and to Swpdtio A oto SwUATLo
B. Molog elval 0 PKPOTEPOC apLBOG armd OPTEC ToU Ba XPELAOTEL Vo TTEPAOEL;

’7L’—77L’

ﬁﬂ b

(A)3 (B)4 (C)5 (D)6 (E)7
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14. There are twelve rooms in a building and each room has two windows and one light. Last
evening, eighteen windows were lighted. In how many rooms was the light off?

Yriapyxouv dwdeka SWUATLA OE €va KTIPLO Kal KABe Swpadtio €xel SUo mapabupa Kot pia
Aapra/dwc. Xteg Bpddu, dekooktw mapdbupa sixav pwe. 2e moéoca Swudtia n Adurma Atov ofnoth.

(A) 2 (B)3 (C) 4 (D)5 (E)6

15. Mary is walking along the road and she reads only the letters located on her right side. Moving
from point 1 to point 2, what is the word she will get?

H Maipn nepnatd oto §popo kat Stafdlel povo ta ypappota nmou Bplokovral otn 6£€Ld mAsupd tng.
Av KlvnBel amo to onueio 1 oto onpeio 2, mota A€€N pe ayyAkd ypdaupota Ba mapet;

(A) KNAO (B) KNGO (C)KNR  (D)AGRO  (E) KAO N

16. The sum of John's and Paul's age is equal to 12. What will be the sum of their ages in 4 years?
To aBpolopa Twv nAKLwV Tou lwavvn kat tou Nauvlou eivat oo pe 12. Moo Ba eival to dbpolopa
TWV NALKLWYV TOUG O€ 4 XpOvLa;

(A) 16 (B) 17 (C) 18 (D) 19 (E) 20

5 point problems - mpoBAfuata 5 povadwv

17. Which of the following pictures cannot be made by using figures like | | ?

Molo amod Ta MAPAKATW OXNUOTA SEV UMOPEL val YIVEL UE TN XPprion OXNUATWY OTWG | ;

| (8) | (ol (D) ()
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18. Which tile matches the empty middle pattern in the picture?
Mola kepaplkd Talplalel oTto KEVO TNG ELKOVOG;

W0 W S WY B

19. Amy used six equal small squares to build the figure. What is the least number of equal small
squares she should add to the picture in order to obtain a larger square?

H ApaAia xpnolpomnoinoe €L ioa PIKpA TETpAYwWVA YLa va XTLoEL TV £lkOva. MNolog eival o
ULKPOTEPOG APLOUOC (OWV LLKPWV TETPAYWVWY TIOU Ba TTPEMEL va TTPOOOECEL OTNV ELKOVA YLa VOl
QUTIOKTHOEL £va LEYOAUTEPO TETPAYWVO;

(A) 6 (B) 8 (C)9 (D) 10 (E) 12

20. Five sparrows sat on a wire as shown in the picture. Some of them looked to their left, others
looked to their right. Each sparrow chirped only once to each bird it saw on its side. For example,
third sparrow chirped two times. In total, how many times did they chirp?

Mévte omoupyitia kaBLoav o éva cUpua, OTwE dalvetal oTnv elkdva. Kamola amnod autd Koitafav
oTa apLoTEPA Toug, AAAa Koitaav mpoc ta 6e€Ld Touc. KaBe omoupyitt kehandnoe povo pia dopd
og KABe mouAi mou BAEMEeL TPOG TNV MAEUPA Tou. Na mapddelyua, To Tpito omoupyitt keAdndnoe Suo
dopEg. Juvolikad, mdoeg dopég kehandnoav oo poli;

i R
9.0 J” \“
N\,
(A) 6 (B) 8 (C)9 (D) 10 (E) 12
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21. Which pattern can we make using all five cards given below?
MoLo oxAO UTOPOUE VO KAVOULE XPNOLLLOTIOLWVTOG OAEC TLC TIEVTE KAPTEG TTOU Sivovtal mapoKATW;

.llkk

(A). (B). (C).
(D). (E).

L R s

In the picture you see 5 ladybirds. Each one sits on its flower.

Their places are defined as follows: the difference of the dots on their wings is the number of the
leaves and the sum of the dots on their wings is the number of the petals.

Which of the following flowers has no ladybird?

ITNV TILo MAVW £lkOva BAEmete 5 maoyaAitosc. H kaBe pio kaBetal oto AouAoUSL TNG.

OL B£oeLc Toug opilovtal we €AC: N Stadopd Twv KOUKKISwWV ota GTeEPA TOUG elval 0 aplOOg Twv
UMWV KaL To dBpolopa TwV KoUKISwY ota GTeEPA TOUC lval 0 aplBUOG TWV METAAWV.

Molo amo ta nopakdtw AouAoldia Sev €xel macyaAitoo;

(A) ; (B) : (€) ; (D) 5 (E) :
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23. On each of six faces of a cube there is one of the following six symbols: &, ¢, ¥, &, m and O.
On each face there is a different symbol. In the picture we can see this cube shown in two
different positions. Which symbol is opposite the m ?

Ye kaBepia amd Toug £€L £86peg TOU KUPBOU UTIAPXEL Eva aTtd Ta aKOAOUBA €L CUUBOAD: &, ¢, ¥, A, B
kat O. e kaBe £6pa uTtapXeL SLOPOPETIKO GUBOAOD. ITNV ELKOVA UIOPOUUE va SoUE aUTO ToV KUPOo
va epdaviletal o SUo SladopeTikeg BEoelg. Molo ouPPBoAO elval amévavtL oo To |;

[e4 © /]

< O

(A)O (B)e Cw (D) & (E) &

24. The numbers 1, 5, 8, 9, 10, 12 and 15 are distributed into groups with one or more numbers.
The sum of the numbers in each group is the same. What is the largest number of groups?
OLapBpuoi 1,5, 8,9, 10, 12 kat 15 Katavéovtol 0 OUASES LE Evav N TIEPLOCOTEPOUC aplBuoug. To
aBpolopa Twv aplBuwy o KaBe opada sival To i61o. Molog eival o peyaAlTePOC ApLlOUOG TV
opadwy;

(A) 2 (B)3 (C) 4 (D)5 (E)6
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